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5-2 Practice Date

Show your work on another sheet of paper.
@ 1. Find the average rate of change 1n
q{x) = 4+ 12 fromy=-1tox =4,

2. Find the ax erage rate of change in
g(n) = 3n3 — i® + 6overtheinterval -2 < 5 £ 2,

3, Letf(x) = 2x? + 3x. Find the average rate of change
in fover the given mterval.

JAY Hla. Fromxtox + Ax
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Find the formula for the difference quotient. Use the formula to calculate the following:
\\, 2/ b, From2to2.1

ll'é2 ¢. From2to2.01

A stone 1s thrown upward from a height of 2 meters with an
" initial \clouty of 8 meters per second. If only the effect of
gravity is considered. then the stone’s height 1 w meters after
r seconds is given by the equation i(r) = -4.97° + S + 2.

a. Find a formula for the average velocity
fromt=Ttor=1+ Ar.

Find the formula for the difference quotient. Use the formula to calculate the following:

b. Use your answer in part a to find the
405 mls J &
average fromr = ltot = 3—
5

5. Refer to the graph of g at the right. Find
the average rate of change in g over

each interval. c
@ a. Cto £
2
1

b, 0 << 35 2/'7 )

Over what interval does the average rate of
change in g have the given value?

. 0 B *D_D d. -= A"D C

6. Suppose P = (3. 7)and O =19 a are points on
the graph of rhe function i If the ay -erage rate of

change in /7 fromy = 3 toxr = ¢ 15 -3 il o,
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